-+~ -+
heper’ moonuiGHT

MOONLIGHT AYDINLATMA SAN. TiC. A.S
1.08SB Uygurlar Cad. No: 1 Sincan 06935
Ankara / TURKIYE

T: +90 312 267 54 30 (pbx)

F: +90 312 267 54 31

www.hepergroup.com

T-LIGHT LT2029.672
2 X ML

(Tunnel Lighting) (3@ & )Ll
Aalgeall 5 S il il
Installation and Maintenance Manual

203

2x M8

e
23 Nm 2X M8 &»
M8 Pul .
sl s e M8 Washer ~ M8 %=
Polyamid Pul
Polyamide Wg
M8 Pul

M8 44 5= M8 Washe

M8 Somun

A

}¥
30

Cable: 1,5mm?2-2,5 mm?2
1,5mm?2 - 2,5 mm?2 J:.<l)

1-10V Dim Access
1-10 V DIM Baglantisidir.

M8 Nut 1-10 & é Jaaa
M8 il sk (1-10V) + O Brown
@ @ = (1-10V) - O White o=yl
2 x Mé 5.1
Baglanti Ayadi Pul / Washer @
Bracket 2 X M6 43 e
328 @ -
o
2 x M8 il sl Jl
2x M6 2x M6 ‘ iy
i R 52
ngnﬁo / Bolt 20,\:::m / Nut '-\\\\\\\\\\W 1
2 X M6 &2

2

4 x M4 Bolt
2,5Nm

9 Nm
For A;

Min. Adjustable Dimension : 108 mm
Max.Adjustable Dimension : 303 mm
108 e A Jaaxill Jlall aagl o) aal)

@ 303 s e el JAE 2all a8 aall

4 X M5 &
4 x M5

Civata / Bolt

6 Nm

6



tbaira
Typewriter
دليل التركيب والصيانة

tbaira
Typewriter
انارة الانفاق

tbaira
Typewriter
براغي

tbaira
Typewriter
2 x M8

tbaira
Typewriter
عزقة

tbaira
Typewriter
M8

tbaira
Typewriter
عزقة

tbaira
Typewriter
M8

tbaira
Typewriter
اسطوانات

tbaira
Typewriter
M8

tbaira
Typewriter
عزقة

tbaira
Typewriter
بولي اميد

tbaira
Typewriter
الكابل

tbaira
Typewriter
1,5mm² - 2,5 mm²

tbaira
Typewriter
1-10V Dim Access

tbaira
Typewriter
مدخل

tbaira
Typewriter
1-10 فولت

tbaira
Typewriter
بني

tbaira
Typewriter
ابيص

tbaira
Typewriter
قاعدة

tbaira
Typewriter
عزقة

tbaira
Typewriter
2 x M6

tbaira
Typewriter
اسطوانات

tbaira
Typewriter
2 x M8

tbaira
Typewriter
براغي

tbaira
Typewriter
2 x M6

tbaira
Typewriter
اغلاق محكم

tbaira
Typewriter
براغي

tbaira
Typewriter
4 x M5

tbaira
Typewriter
الحد الادنى للبعد القابل للتعديل

tbaira
Typewriter
108 ميللي متر

tbaira
Typewriter
الحد الاقصى للبعد القابل للتعديل

tbaira
Typewriter
303 ميللي متر


s
heper’ moonuiIGHT

MOONLIGHT AYDINLATMA SAN. TiC. A.S
1.08SB Uygurlar Cad. No: 1 Sincan 06935
Ankara / TURKIYE

T: +90 312 267 54 30 (pbx)

F: +90 312 267 54 31

www.hepergroup.com

T-LIGHT LT72029.672
2 x ML

(Tunnel Lighting) &Y 3 Ul

Llpall 5 a1l Jal
Installation and Maintenance Manual

G_"\;A\ a g

Product Description

JSEl gl faall B8 e o grie sl e D

Corrosion resistant die-cast aluminium housing

Counterbeam, probeam and symmetrical light distribution options
for tunnel’s different zones such as entrance, interior and exit zones
Modular structure with Heper's patented Milestone® LED module

SELV (Safety Extra-Low Voltage)

Luminaire: IP66
Safety Standard: Class |
Impact strenght: IKO8

220-240 V AC 50-60 Hz

IP66 3,LY)3as g
Class | i) julaa
IKO8 il 5 8

\ .|J||__."j *Bakimda sadece orijinal parcalar kullaniimalidir.

- Jgaall
2 x M84i e l; Driver
2 x M5 ! ‘
Pul / Washer !

2 X M5
Civata / Bolt
6 Nm

2 X M5 &) »

r,S;E Silaza
Kontrol Unitesi
Control Gear

i \\ *Montaj ve Bakim sadece yetkili fi
0 | *Installation and Maintenance must be performed by au'horlzed pevsonnel only.

*Only original parts should be used during the maintenance.

Urin0, baglayacaginiz yere konumlandirdiktan sonra sekilde
gosterilen parcalarin sirasini fakip edecek sekilde M8 anahtar basl
civatayla montajini yapin.

)

Upon aligning the fixture with its mounting place, tighten the Hex M8 bolts
using the parts in the designated order.
Hex M8 ebus alSaly o8 ¢ 45 Galall a5l S e oS il 513lae ic

Gl qa A e a8 sl

2 adet Mé civatayi gevseterek tutucu tablanin agisini
ayarlayabilirsiniz. Acryl ayarladiktan sonra civatalar sikin.
Loosen the M6 bolts(2) to align the angle of the holding platform.
Upon aligning the angle, tighten the screws.

ol iy o8 4y 5151 apan any Al Ayl 5 aaatl MB 21 i

Driver kutusuna sabitlenmis, tutucu ayaklarin baglantisini saglayan 4
adet Mé civatayl gevsettiginizde max. ve min. dlcUler arasinda
baglanti ayaklanni ayarlayabilirsiniz.
Loosen the M6 bolts(4) to align the spacing of support brackets between
min. - max. dimensions. Upon setting the distance, tighten the screws.
U V) (e ae ) Al aelly Aileial) ALl 23831 MB (210 i o8
Al sl sl i QS o ¢ ddlsall o e,

Designates the fixtures electrical connection.

Uronin elektrik baglantisini gdsterir.
Sl Al AL eI Jaa sl aay

[N ©—-8LUE

GREEN &
YELLOW

BROWN

20-40VACH
50-60Hz
@
e

Modul degisimini yapmak igin; dncelikle GrinUn elektrik baglantisini
kesmeniz gereklidir. Modul baglantisini saglayan 4 adet M4 civatayi
soktUkten sonra elekirik baglantisini saglayan soketleri birbirinden
ayinn(Sekil 5.1), béylece modulu gévdeden ayirmis olursunuz.
Baglanacak yeni modulun elektrik soketlerini birlestirdikten sonra
(Sekil5.2), modulin gévdeye baglantisini sadlayan civatalar sikin.

5

©

@)

Driver degistirmek icin UrinUn elektrik baglantisini kestikten sonra
haznenin kapaginda bulunan 4 adet M5 civatayi sékin. Kontrol
Unitesini disarn dogru gekin.

To change the driver, it is needed to cut-off the fixtures electrical connection.

After removing the electrical connections, remove the M5 bolts(4) located on
the housing. Then, pull-out the control unit.

A pd a8l oo sl o ny | 559 53 50 alal] oS Jlai¥) i o5 ¢ Jpmdl il
Sl e Canans 8 D aay y amnl e 525n 5l 5 ol G2

Kontrol Unitesini hazneden cikardiktan sonra, kartus sacindan
civatalar sékin.

Upon taking the control unit out of its housing, remove the bolts from the sheet
metal containing the housing.

Lionadl daioall o 2l A3 8 annl e (o pSatl) Clana 4131 2ay

Al Aedlall e S ) il B13laay ign O e el o ang ¢ aaaall oL

Gaohll dgal sl et

NOT: UrGnlerin montajini yaparken, modullerin logo olan kisminin yol
tarafina getirimesine dikkat edilmelidir. Aksi takdirde aydinlatmadan
verim alinamayabilir.

Note: During assembly, one should care for aligning the fixture's side with the brand
logo to face the road.

To perform module replacement, it is needed to cut-off the fixtures electrical connection.

Upon removing the M4 bolts(4) connecting the module, take out the sockets that makes
the electrical connection(Figure 5.1) This way, module is separated from the body.
After making the electrical socket connections of the new module (Figure 5.2), tighten the screws

that connects the module to the body.

odle ) i g LS ausall (e Baa sl Juady 8 2] 5l @8 aay 5 (AL peSH Ll Juady o8 3 )Y Bas g il

anadly Leloa 31 3 )UY1 Bas gl e pall oy &8 sapaall 3as gl Qs 5 22y

Not : TUm 8l¢Uler milimetredir.
Note: All dimensions are in milimetres.

G

Kilogramme
Kilogram 55
AW 0.04 m?



tbaira
Typewriter
To change the driver, it is needed to cut-off the fixtures electrical connection. 
After removing the electrical connections, remove the M5 bolts(4) located on the housing. Then, pull-out the control unit.

tbaira
Typewriter
Upon aligning the fixture with its mounting place, tighten the Hex M8 bolts 
using the parts in the designated order.

tbaira
Typewriter
Upon taking the control unit out of its housing, remove the bolts from the sheet metal containing the housing.

tbaira
Typewriter
Loosen the M6 bolts(2) to align the angle of the holding platform. 
Upon aligning the angle, tighten the screws.

tbaira
Typewriter
Loosen the M6 bolts(4) to align the spacing of support brackets between 
min. - max. dimensions.  Upon setting the distance, tighten the screws.

tbaira
Typewriter
Note: During assembly, one should care for aligning the fixture's side with the brand 
logo to face the road.

tbaira
Typewriter
Designates the fixtures electrical connection.

tbaira
Typewriter
انارة الانفاق

tbaira
Typewriter
دليل التركيب والصيانة

tbaira
Typewriter
وصف المنتج

tbaira
Typewriter
To perform module replacement, it is needed to cut-off the fixtures electrical connection. 
Upon removing the M4 bolts(4) connecting the module, take out the sockets that makes 
the electrical connection(Figure 5.1) This way, module is separated from the body. 
After making the electrical socket connections of the new module (Figure 5.2), tighten the screws 
that connects the module to the body.

tbaira
Typewriter
معدات تحكم

tbaira
Typewriter
عزقة

tbaira
Typewriter
2 x M8

tbaira
Typewriter
المحول

tbaira
Typewriter
براغي

tbaira
Typewriter
2 x M5

tbaira
Typewriter
عند محاذاة التركيب مع مكان التركيب الخاص به ، قم بإحكام مسامير 


tbaira
Typewriter
Hex M8

tbaira
Typewriter
باستخدام الأجزاء في الترتيب المعين

tbaira
Typewriter
لتغيير المحول ، يلزم قطع الاتصال الكهربائي الخاص بوحدة الانارة , بعد فصل التوصيل الكهربائي فم بازالة براغي ام 5 الموجودة على الجسم و بعد ذالك قم بسحب معدات التحكم

tbaira
Typewriter
بعد ازالة معدات التحكم من على الجسم قم بازالة البراغي من الصفيحة المعدنية

tbaira
Typewriter
قم بفك براغي 

tbaira
Typewriter
M6

tbaira
Typewriter
لتحديد زاوية المنصة

tbaira
Typewriter
بعد تحديد الزاوية قم بفك البراغي

tbaira
Typewriter
يحدد التوصيل الكهربائي للتركيبات

tbaira
Typewriter
أثناء التجميع ، يجب على المرء أن يهتم بمحاذاة جانب التركيب مع العلامة التجارية
شعار لمواجهة الطريق.

tbaira
Typewriter
قم بفك براغي

tbaira
Typewriter
M6

tbaira
Typewriter
لتحديد المسافة المتعلقة بالبعد للقواعد من الادنى للاقصى

tbaira
Typewriter
عند ضبط المسافة ، قم بإحكام تثبيت المسامير اللولبية.

tbaira
Typewriter
غلاف من الألومنيوم غير قابل للصدأ مقاوم للتآكل

tbaira
Typewriter
وحدة الانارة

tbaira
Typewriter
IP66

tbaira
Typewriter
معايير السلامة

tbaira
Typewriter
Class I

tbaira
Typewriter
قوة التأثير

tbaira
Typewriter
IK08

tbaira
Typewriter
الوزن

tbaira
Typewriter
لتغير وحدة الانارة قم بفصل التيار الكهربائي و بعد فك البراغي قم بفصل الوحدة من الجسم كما موضح اعلاه,
 بعد توصيل الوحدة الجديدة قم بشد البراغي لوحدة الانارة لتوصيلها بالجسم


	LT2029.672.00 - 1
	Teknik Resim Görünümü1
	Teknik Resim Görünümü2
	Teknik Resim Görünümü3
	Teknik Resim Görünümü4
	Teknik Resim Görünümü5
	Detay Görünümü D (1 : 6)
	Teknik Resim Görünümü7
	Detay Görünümü E (1 : 4)
	Teknik Resim Görünümü9
	Teknik Resim Görünümü10
	Teknik Resim Görünümü11
	Teknik Resim Görünümü12
	Detay Görünümü F (1 : 8)
	Teknik Resim Görünümü14
	Teknik Resim Görünümü15
	Teknik Resim Görünümü16
	Teknik Resim Görünümü17
	Teknik Resim Görünümü18
	Teknik Resim Görünümü19
	Teknik Resim Görünümü20
	Detay Görünümü G (1 : 10)

	LT2029.672.00 - 2
	Teknik Resim Görünümü23
	Teknik Resim Görünümü25




